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3.3 Rational Functions

Rational Functions have the form:
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Where g(x) and h(x) are _POlynwom 4'5S & px) 0 .
1) AS‘W‘V ot e = a line for a curve/fxn whose AistanCe petween the line and the

‘curve/fxn approaches zero but never (¢ .cheS  zero. There are 2 types of asymptotes:

a) \erdical asymptote (VA) — found whenever denominator 0.
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b) W’“WM‘“\\ asymptote ( HA) — depends on A d&g 2€  of numerator & denom:
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e If m=n,HAis 31:%% (ratio of the leading coefficients).

o If m>" no HA
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Calculus Method: Divide each term by the “\‘»s\/‘- 5t power of the d enominator . Evaluate

for x = to find any HA.
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2) _ KoleS  inrational functions AKA Points of O\fSCof\Jﬁf\\Mva

e WhenaVAis qux&(lkﬂ\ out through simplification of the fxn.

e Graph willhavea ho l  at this point instead of a VA. o

Example 2: Find the x & y intercepts and any holes in each rational function.
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